mean # PXL hits vs eta

<pixel hits> [

5

0.95

5310 12 3

n

mean

# PXL Layers with measurement vs eta

<pixel layers> [

= N w
g N g w U N

=

0.95

11 1 1 11 11 11 11 1 11 1 11 1 1 11 1 1
e d a2 A e - T b A A A b A
1] o N

53753

210 12 3

esTLoOwWPT_10UUeVvT

<strip hits> [

10

-T
REFit-testCowPt_1000evt

0.95

T T T T [T T 1T
-

w
N

<strip layers>

.....................................................................

.....................................................................

0.95

T T T 1T [T T T T
-

w




	Contents
	Page 1


